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	             Q1/ answer the following with equation if required                                                           30M


1- Why is an aromatic acid chloride less reactive than the aliphatic acid chloride in the Schötten-baumann reaction?
2- Why sulfuric acid is the most commonly used acid for commercial lactam production in Beckmann rearrangement?
3- Explain (by mechanism or resonance) role HCl in preparation of benzylidine-aniline? 
4- What are the roles of sodium hydroxide in preparation of oximes?
5- Write three advantageous for one-pot three components system method?
Q2/ complete the following equations:                                                                              24M



[bookmark: _GoBack]Q3/                                                                                                                                    22M
A) Explain with equation the main differences between Beckmann and Hofmann rearrangements?
B)  If 0.20 moles of Terphthaldehyde,  0.12 moles of acetophenone and 0.30 mol of phenylhydrazine are used during a synthesis of 2-pyrazoline  in the presence of 4% ethanolic NaOH as catalyst, find out the:
1- Number of grams of 2-pyrazoline will be obtained if the reaction gives 85% yield.
2- Number of ml. of NaOH for catalyzing the reaction.
Q4/ Write the mechanism for the following reactions? (Answer two)                                  24M
a/  preparation of phthalimide                                      
b/ preparation of acridone                                                                 	Good luck

c/                                                                      Mohammed kareem
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